
Examlet 2 Foundations of Advanced Math 2/24/23

1. Write each of the following in as simple a way as possible:

(a) [1, 3] − [2, 5]

(b) [1, 3] ∩ [2, 5]

(c) [1, 3] ∪ [2, 5]

(d) (3, 6) − (6, 8)

(e) (3, 6) ∩ (6, 8)

(f) (3, 6) ∪ (6, 8)
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Circle T or F for each of the following statements:

(i) {∅} ∈ {∅, a, b} T F

(j) {∅} ⊆ {∅, a, b} T F



2. (A ∪ B) ∩ C = A ∪ (B ∩ C)



3. A ∩

⋃
i∈I

Bi

′ =⋂
i∈I

(A ∩ B′i).



4. (a) ∀a, b, c ∈ R, a < b⇒ a − c < b − c

(b) ∀a, b, c ∈ R, a < b and c > 0⇒ a
c <

b
c



5. ∀x ∈ R, −|x| ≤ x ≤ |x|.


